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This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example: (2 (5 @ (D

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the Answer Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to disqualification.
You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.
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LABOUR WELFARE AND INDUSTRIAL RELATIONS, LABOUR AND SOCIAL
WELFARE, HUMAN RESOURCE MANAGEMENT
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Arrange the following steps of
planning in a proper sequence

(i) Developing premises

(i1) Evaluating alternative courses
(iii)) Being aware of opportunities
(iv) Selecting a course

(v) Establishing objectives

A) @ @) @Gv) () (v)

B) @) @) (@ (v) (v)

© G (v) @ Gy @v)

(D) (@) (v) (@) (@v) (D)

Which one of the following
identifies the basic function or task
of an organisation ?

(A) Policy (B) Objective
(C) Mission (D) Programme

Match the following :
Name of Major
Thinker Contribution

(a) F.W. Taylor (i) Application of
psychology to
industry and
management

(b) Max Weber (ii) Systems
approach to
management

(c) Chester (i11)) Emphasis on

Barnard rules and
regulations

(d) Hugo (iv) Increased

Munsterberg productivity
through
efficiency in
production

(@ () (© (@

(A) Gv) (i) G) (1)

B) @) @) Gv) @)

(© G @) Gv) (@)

D) @v) @) @ ()

Paper-11

In , a person is perceived on
the basis of a single trait.

(A) Halo Effect

(B) Hawthorne Effect
(C) Stereotyping

(D) None of the above

Which of the following aims at
control through setting goals and
productivity measures based on best-
industry practices ?

(A) Pareto diagram
(B) Quality circles
(C) Kaizens

(D) Benchmarking

Which of the following is not true in
case of manpower planning ?

(A) It is a process by which an
organisation should move from
its current manpower position
to its desired manpower
position.

(B) It is an integrated approach to
performing the  personnel
function required to meet
organisational and individual
objectives.

(C) It involves forecasting human
resource requirements.

(D) It is a process to discover the
sources of manpower.

J-55-11
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(iv) Toehea 1 oo

(v) 329 R

A) (@ @) Gv) () (v)
B) @ aGi) () (v) Gv)
© i) (v) (@) @G @(Gv)
D) Gii) (v) () @Gv) @)

frefefad & € FH o1 UF T F FE
e I Sl @ifad g 2

(A) ifa

(B) =H

©) frem

(D) W

et =t gaferd it
o ®r AW T e
(a) ThTg. (i) ST q yeeE
TR H AR
ST
(i) vEe & uld
ey st
(iii) it el
o W 9
(d) = et (iv) Sema F
FREFIA  F
e § T
SRR
@ ® © @
(A) @(v) @Gi) G @
B) (i) () Gv) @
© Gy (i) Gv) @
D) @(v) @Gi) @O )

(b) HT TR
(c) TR TAE
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Match the following :

List -1 List - IT

(a) Collective (i) Institutions set

Bargaining up by the
Government
for fixation
and revision of
wages.

(b) Wage (i) Itisa
Boards procedure in
which
compromise is
reached
through
balancing of
opposed
strengths.

(ii1) Remuneration
paid to the
clerical and
managerial
personnel on
monthly or
annual basis.

(iv) Remuneration
paid by the
employer for
the services of
hourly, daily,
weekly and
fortnightly
employees.

@ ® © @

A @O G G o Gv)

B) Gv) ) (@@ (i)

© @ av) (@@ (i)

D) G @  Gv) >iD)

(c) Wage

(d) Salary

Grievance is
(A) A feeling of dissatisfaction.

(B) A dispute raised by a trade
union.

(C) Refusal of the management of
a demand.

(D) An act of indiscipline.

10.

11.

12.

13.

Which of the following is called a
negative process ?

(A) Recruitment

(B) Selection

(C) Induction

(D) Performance Appraisal

Which of the following is not a
function of human  resource
management ?

(A) Planning
(B) Organising
(C) Directing
(D) Accounting

When situation is duplicated in such
a way that it carries a closer
resemblance to the actual job setting,
it is called

(A) Sensitivity Training
(B) Simulation

(C) Managerial Grid
(D) In Basket Method

Behaviourally Anchored Rating
Scale is associated with

(A) Training and Development
(B) Performance Appraisal
(C) Career Planning

(D) Workers’
Management

Participation  in

Moonlighting means

(A) Working simultaneously in
two organisations.

(B) Working under moonlight.
(C) Working in the night.

(D) Encouraging employee to
improve productivity.
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14.

15.

16.

17.

Which of the following is not a
content theory of motivation ?

(A) Maslow’s
Theory

(B) Alderfer’s ERG Theory

Need Hierarchy

(C) Vroom’s Expectancy Theory
(D) Herzberg’s Two Factor Theory

Theory X represents
(A) Democratic style of leadership
(B) Autocratic style of leadership

(C) Laissez-faire style of
leadership

(D) Humanistic style of leadership

Which of the following is not a
correct statement ?

(A) Informal groups always
hamper the performance of
formal groups.

(B) Informal groups do not have
prescribed goals and
relationships.

(C) Informal and formal groups
co-exist in organisations.

(D) Informal groups provide safety
valve for employee emotions.

The change procedure of unfreezing,
moving and refreezing was given by

(A) Kurt Lewin

(B) P.F. Drucker
(C) French and Bell
(D) Katz and Kahn

18.

19.

20.

21.

22,

means willingness to exert
high levels of effort on behalf of the
organisation.

(A) Organisational commitment
(B) Organisation Effectiveness
(C) Organisational Control

(D) None of the above

Which of the following is not a
tripartite body ?

(A) Indian Labour Conference
(B) Standing Labour Committee
(C) Wage Boards

(D) Joint Management Councils

As per Industrial Disputes Act, 1947
works committee is constituted if
there are

(A) 100 workers

(B) 50 workers

(C) 80 workers

(D) None of the above

The Chairman of the Second
National Commission on Labour
was

(A) Gajendra Gadkar
(B) Ravindra Verma
(C) George Fernandes
(D) Vallabh Bhai Patel

Which of the following cannot be
said to be a body in the field of
industrial relations ?

(A) Joint Management Council
(B) Works Committee
(C) Shop Level Council

(D) Canteen Committee
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23.

24.

25.

26.

Which of the following can be said
to be the first Trade Union in India ?

(A) Amalgamated  Society  of
Railway Servants of India and
Burma

(B) Kamgar Hitvardhak Sabha
(C) Madras Labour Union
(D) Bombay Millhand’s Association

Which of the following cannot be
said to be the short-term objective of
trade unions ?

(A) Higher wages

(B) Shorter Hours of work

(C) Establishment of Socialist
society

(D) Better conditions of
Employment

Arrange the following in the order of
their coverage from lower to higher :

(a) Regional Union
(b) Craft Union

(c) Industrial Union
(d) Confederation
(e) Federation

(A) a,b,c,d, e

(B) b,c,a,e,d

(C) c,b,a,d,c

(D) d,a,b,c,e

Match the following :

Trade Union Year of
establishment
1) 1970

(1) 1955

(a) INTUC
(b) AITUC
(c) BMS (iii) 1947
(d) CITU (iv) 1920

@ () (© @
(A) (i) (1) @) @Gv)
B) i) Gv) G) @)
© i) Gv) @ (@)
(D) Gv) @) @) (i)
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27.

28.

29.

30.

Which of the following cannot be
said to be a labour legislation ?

(A) Industrial Employment
(Standing Orders) Act, 1946

(B) Payment of Bonus Act, 1965

(C) Protection of Civil Rights Act,
1955

(D) Trade Unions Act, 1926

The establishment of Indian Labour
Conference and Standing Labour
Committee in India was on the

pattern of

(A) ILO

(B) Report of Royal Commission
on Labour

(C) Both (A) and (B)
(D) None of the above

Which of the following is not a
benefit under the Employees State
Insurance Act, 1948 ?

(A) Sickness and Maternity
Benefit

(B) Disablement and Dependents’
Benefit

(C) Medical Benefit and Funeral
Assistance

(D) Child Allowance and

Unemployment Benefit

The terms  ‘arising out of
employment’ and ‘during and in the
course of employment’ have been
used in

(A) Maternity Benefit Act, 1961
(B) Payment of Gratuity Act, 1972

(C) Workmen’s Compensation
Act, 1923 (Employees’
Compensation Act, 1923)

(D) Employees Provident Fund
(and Miscellaneous Provisions)
Act, 1952

J-55-11



23.

24.

25.

26.

frfefiad § ¥ fF8 IRa &1 999 ST

e T ST Fehel1 € ?

(A) SIS W 3% I
ol 31T Srear uoe a |

(B) R feaaees qu

(C) T oieR gFad

(D) S THeRred Taitae
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FHITeTh IT Tl gl ST Thall ?

(A) Ak HoTg

(B) T & T HUS

(C) TSR THTST i LT

(D) TUSHIR i sfee Rt

Ffeied & 3% AU % HH 9
3=9 % Y H AT i
(a) &HAF Ty

(b) Teredt gg

(c) SEnfTes 9=

(d) FheEH

() WM

(A) a,b,c,d, e

(B) b,c,a,e,d

(C) c,b,a,d,c

(D) d,a,b,c,e

f=feriad st gaferd it :
AT G T TS
(a) TF (i) 1970
(b) weF (i) 1955
(c) stumud. |(iii) 1947
(d) die (iv) 1920
@ ® (© @@
(A) i) G @ aGv)
B) Gi) Gv) 3G @)
© Gi) Gv) @ >
D) (Gv) Gi) @ 3D
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28.

29.

30.

frefefad 4 9 g gm stfufram &t
el S GehaT ¢ ?

(A) STENFTER TSR ([T 3Te9)
a1fatE, 1946

(B) dME A =, 1965

(C) MR SMUHR e rafam,
1955

(D) TSI | I, 1926

TR T ARA™ 99 TG 991 S 99
[rafd s o & e W A
TS of

(A) 3TE.TeA. 3.

(B) IIEr &9 3{1E1T 1 Uicee
(C) (A) T (B)sH
(D) T & fordll o ted X TR

FHAR T o STufHE, 1948

e FEfAtEd § 9 9 T oy @

g

(A) SERT T G o

(B)  3TRTSRIC UG ST & o

(C) Tafrcms oy aen Jicfs &g
e WeTa |

(D) ToTe] ST AT SRISTIRT &7 |

SR wE T K R 3 Teg
ST T YA efariad § 9 fead foear
e ?

(A) T oY 3T, 1961

(B) Ir=ggel A atutaad, 1972
(C) TR H3ereT a-=H, 1923
(FHEI gaTeT SttafEm, 1923)

(D) FHHARt wfgs e (vd fafay
TaeT) SATam, 1952
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31.

32.

33.

Assertion (A) At least seven
persons can apply to the
Registrar for registration of
their trade union.

Reason (R) : The Trade Unions Act,
1926 makes registration of
trade unions compulsory so

that the trade union is
recognized as a bargaining
agent.

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.
(C) Both (A) and (R) are wrong.
(D) (A) is wrong, but (R) is correct.

Which of the following cannot be
said to be a public utility service
under the Industrial Disputes Act,
1947 ?

(A) Railways/Airlines

(B) Post, telegraph and telephone
service

(C) Automobile Industry/Jute and
Cotton industries

(D) Undertakings related to power,
electricity and water supply

Which of the following is not an
authorised deduction wunder the
Payment of Wages Act, 1936 ?

(A) Fines
(B) Income-tax

(C) Contributions for LIC
premiums

(D) Deductions made for payment
of debt to money lender

34.

35s.

36.

37.

Under the Minimum Wages Act,
1948 which of the following
has/have been provided for fixation
of minimum wages ?

(A) Wage Boards
(B) Awards of Labour Court

(C) Notification  method  and
Committee method

(D) None of the above

Which of the following stands for
bonus in the context of Indian
situation ?

(A) Profit sharing
(B) Deferred wage
(C) Incentive

(D) None of the above

According to the Factories’ Act,
1948 creche must be provided in a
factory if there are

(A) 10 or more women workers
(B) 20 or more women workers
(C) 25 or more women workers

(D) 30 or more women workers

Which of the following is not a
labour welfare agency ?

(A) Bharat Sewak Samaj
(B) Harijan Sewak Sangh
(C) Central Social Welfare Board

(D) Standing Labour Committee



31.

32.

33.

AMHAT (A) : TSR TT & USHIh0T
& FH § FHH T AT WG 9
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I Gl € |

HRUT(R): woiR dg  Afafem
1926 & i we/gX FEl o
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AT Tsie & &9 § qr=ar el
T |

(A) (A) W&, /= (R) T & |

B) (A)adn (R) ST E |

(©) (A)7(R)THI M@ E |

(D) (A) e &, == (R) W& & |

A=t foere sttufTam 1947 o Sidia
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(A) ¥/ fomm Qe
(B) ST, IR Ta ol 9aT |

(C) dieHMERd I / 9eEd gd

FE |
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TwIE?

(A) 3FUTS
(B) 3T
(C)  STia sier ot femee &q herdt

(D) WEHR ¥ {eTU 7T st & A &
FHI |

34.

35s.

36.

37.

AT TIgA U, 1948 % Siaa

IFaE Teigd FeiRd #Ra & oo
frfefad 4 9 frg / T s ameaem €

(A) FTE TS

(B) T8 T T USTS

(C) 3= T WiAfq fafy
(D) SuRfeiiad & & ferdt o1 et

IR 3 § FeAferied & @ & S99
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(A) MY TERA |

(B) TN AT |

(C) icHm TR |

(D) SuRfeiiad | & ferdlt =t 7@t

FHREAT AFFH, 1948 F AR A
el @ RN NRES]
(55e1) T e SAFEE &
(A) 10 =1 3Ty TlEeT SHH
(B) 20 3T 3Tk [lEeT SHH
(C) 25 a1 3Ty HlgeT ATHH

(D) 30 a7 3Ty HlgeT ATHH

fr=fofaa 5 9 v 2 shoarmor safiyeRor
Tt el ST Fehell ?

(A) YTRT Yok TETST

(B) &R=H Qo guTST

(C) 51T THS HedT I

(D) TR &Y |t



38.

39.

40.

41.

Which of the following are not the
theories of Labour Welfare ?

(A) Policing Theory and Placating

Theory
(B) Religious Theory and
Trusteeship Theory

(C) Functional Theory and Public
Relations Theory

(D) Subsistence Theory and
Residual Claimant Theory

Which of the following is not an
intra-mural labour welfare measure ?

(A) Canteen
(B) Creche

(C) Rest room, shelter and lunch
room

(D) Housing and hospital facility

Which of the following does not
affect the supply of labour ?

(A) Population

(B) Strike

(C) Labour force participation
(D) Mobility of labour

Which of the following can be said
to be a correct concept of wages ?

(A) Wage is areward.
(B) Wage is a compensation.
(C) Wage is the price of labour.

(D) Wage is an incentive to work
more.

42,

43.

44.

45.

Tripartite Wage Boards in India
followed which of the following
principles  while making their
recommendations ?

(A) Minimum Wage Principle
(B) Fair Wage Principle

(C) Living Wage Principle
(D) None of the above

Karl Marx is said to be the
proponent of which of the following
theories of wages ?

(A) Subsistence Theory of Wage
(B) Wage Fund Theory
(C) Surplus Value Theory of Wage

(D) Marginal Value Theory of
Wage

Equal Remuneration Act, 1976 was
enacted to check —

(A) Occupational wage differentials.
(B) Geographical wage differentials.

(C) Wage differential based on sex.
(D) Inter-industry wage differentials.

The scheme of workers’
participation in management in
industry in India was introduced
through

(A) Code of Discipline in industry
(B) 20-point Economic Programme

(C) Industrial Employment
(Standing Orders) Act

(D) None of the above
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(B) ek FogT= e =atea g |

(C) Tharas fogrd dur S99

s |
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Read the following passage and answer
questions from 46 — 50 :

Flexible leadership theory describes how
leaders can enhance employee
commitment and skills in ways that will
eventually improve efficiency, adaptation,
and financial performance. Many studies
during the past half century have identified
types of leadership behaviour that can
enhance employee confidence, cooperation
and effort. How leaders can improve skills
has received less attention in the
leadership literature, but examples of
relevant behaviours include : providing
clear explanations about job
responsibilities and work procedures to
new or inexperienced employees,
providing coaching and feedback to an
individual or team, encouraging employees
to attend relevant training programs,
making developmental assignments to
skills, and  providing
opportunities to use newly learned skills.
Leaders can also improve the quality of
human resources by their influence on
HRM programs and management systems.
This type of leader is sometimes called
indirect leadership, because no direct
interaction with followers is necessary to
influence their attitudes and behaviour.
Top executives in an organisation usually
have the authority to design or modify
human resource management programs. It
is their responsibilities to ensure that the
HRM programs are cost effective,
compatible with each other, and consistent
with the firm’s competitive strategy.
Middle and lower-level managers can help
to implement and support the HRM
programs, and they can help to evaluate
the programs and suggest improvements.

learn  new
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46.

47.

48.

49.

50.

Flexible leadership theory aims at

(A) increasing commitment and
skills
(B) decreasing financial

performance and adaptation
increasing flexibility while
dealing with people

©

(D) None of the above

Leadership studies have mainly

focused on

(A) How leaders can improve
skills of employees

(B) Kinds of leadership behaviour

(C) Flexible leadership behaviour

(D) All the above

Leaders can improve skills of

employees by

(A) communicating job expectations

(B)

giving proper training

(C) giving opportunities to practice
newly acquired skills
(D) All the above

Indirect leadership means
(A) No interference in the work of

subordinates

(B) No interaction with
subordinates

(C) Influencing organisational
functions

(D) Improving human resource
quality through HRM
programmes and systems

Under indirect leadership, who

designs human resource

management programs ?

(A) Employees

(B) Lower level management

©
D)

Middle level management
Top level management

J-55-11



AT TTRITST i Uied T U9 T&AT 46-50
% TR T

I AUl g T a1 w1 Fue
AT ¢ Tob SHHTRET o Ufdelgar 2T higret i
1 TF9 YR 9 AT T g1 Gohal & orad
3idd:  HEAFICAN S PoHEd T o
FREFSEA § Gglg g | st stevmarest ot
ATy H fohU T STETAT | e Weh AR
3F TERI H Sooid & ST HHEINAT o
TorganTadT, HehTRAT I TRl bt &gl 9hd & |
FJARSP e T 39 o1 W Y & 21 T
2 fF 999 A I 69 TR @ FHEIREl %
HITA T Gghg F Fohd €, T HHANAT
AfSage =R ¥ (efeiad aftafad € : T3
AT STEH FHANAT & [T 3% |9 M0
FHET & Heted SRS qT S i Ufehar s
e AN HRAl, R RHOR-R 9T
FHARAT F T Dl HITOHT TAT BISsHh UG
AT, UG UTIMEA0T TATSret § A0 o o
fau wHenfEr o Wedted WA, ufRTeTor
HEHAT T 9T T T T UG AT, TG
FIEE H WE= & o 3% faeprarcns w
IO, AT TS T & HISTeAT T STANT HA
o 3TEER UG LT |

T 3TR.UH. HIEshAT a2l Wee Jonterar
T IO TS R AT A GO
T § ot T FR Ghd € | 39 UPR &
I TS Sl F-hT ST e ot el
T qen EeR @i Ui A & o
I WY YeTeT WER-fRAT o STEvgehdl el
g | R et | 3 WRF wEERl
AR T AFS GEEA YSET HEHHT B
TTeReT 9T 379 WML T TUHR BT € |
g GHPEd HAT SR STRRMGeT eiel € T
UL STR.UH. FHIIHH AN — TATE, TH-TE *
3TIHeT AT S St UTTETZTcHeh JUTHIT o T
U B | T q Fee W) % vEUsw
TR0, HEHH hl FHEfad wd q9r
e UGH FRA B Gerddl Y Ghd © adr
HIISHAT o oA H Werddl X T € 3R
32 310 I 2 G < Gohel € |

46.

47.

48.

49.

50.
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e o AUl FAgT o S e ?
(A) FHAH Tidegar T SR
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(B) foxit EoRIELEICE] qen
ST FHCHIIT Sl HH AT |

(C) N o |1 ZEER | &g I |
(D) SuRfcifad | ¥ g =& |

FJERE 1T Td: fhd W higd

g7
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G HER % UFR |
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(B)
©
(D)

FHANAT & I B AT [FEH FRT
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(A) WY T HE D TR & v §
A |

SUEHRT UTSTEA0T ST |

T4 H T HINT % VAN
3T THT |
SuRfeARad o @ 9t & gRT |

(B)
©

D)

3TYICETeT el BT 7 €

(A) Y FHT & wE § ey
T T |

ST AT & AT RER-Toha
Tt & |

TSI STt bl TTTeId T |
. AN.TH. HEHH q9T YoTterdr
o AT ¥ HTe GQTE i oreT
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(B)

©
D)

AT Agd o S HHE GarEd
TeE SHTshHT o SATTSheT i a1l & ?
(A) HHARA |

(B) T oe &R &1 uaeq |

(C) TA-TRE yEeT |

(D) ST T v |
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